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1. ��O�{§¦1 + 2 + · · ·+ 100�Ú"�Ñ��è§¿^VISIO±ÑéA�6§ã"

Solution. Question.1

Algorithm 1: Sum : 1 to 100

Input: ∅
Output: sum

1 sum← 0;
2 n← 1;
3 while n<101 do
4 sum← sum+n;
5 n← n+ 1;

6 end
7 output sum;
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Figure 1: 11K6§ã

2. ��8U = {1, 2, 3, 4, 5, 6}§8ÜA = {1, 3, 4}§B = {1, 2, 5}§C = {2, 4, 6}§¦e�8Ü:
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(a) (A ∩B) ∪ C,

(b) (A−B) ∩ C,

(c) A⊕B ⊕ C.

Solution. Question.2

(a) Ï�(A ∩B) = {1}§C = {1, 3, 5}§¤±(A ∩B) ∪ C = {1, 3, 5}
(b) Ï�A−B = {3, 4},C = {2, 4, 6},¤±(A−B) ∩ C = {4}
(c) Ï�A⊕B = {2, 3, 4, 5},C = {2, 4, 6}§¤±A⊕B ⊕ C = {3, 5, 6}

3. ��8U = {1, 2, 3, 4, 5, 6, 7, 8}§8ÜA = {1, 2, 3, 5}§B = {2, 3, 4, 6}§C = {1, 3, 6, 7}§�
^��ãL«e�8Ü:

(a) (A ∩B) ∩ C,

(b) (A−B) ∪ C.
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(a) (A ∩B) ∩ C
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(b) (A−B) ∪ C

Figure 2: 13K��ã
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